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p8, 15 00000 =II-n000000

p.9, 1.3: heat transfer rate = thermal conductivity
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p.10, Eq.(1.23):

p.13,012: 0000000000 O00DOOO0O00 =000000000

p.15, Figl3: (b)) 000000 = (b)000000

p.16,013: DOO0DO0O =000000000

p.16,19: OO0 =000000000

pl7,151: 00000000 =000000

p.25, 191 00 (8f/0t<0) = 00 (8f/dt > 0)

p.27,0113: 000000 ==00000000000000O000

p.28, 151 0 (223)0 fi=j = 0 (223)0 f, =0

p.30, E¢.(3.32) 000 20000: f; = 2f;

p30,161: 2-' 0000 =20000000

p.ol, L4t OO000O0O0O0D0OO0O0O0OO0O0DOO0 ==000000000000000O

p66,111: OOCOOO A =00000R

p.66, Eq.(3.51)0000: AtAG = AtRG
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p.66, Eq.(3.52): (B3en—-cnt) = +%(3An — A1)

p.67, Eq.(3.61): +d0u = +ou*

p70,00101L: —1>2>1 = -1<z<1

p.74, 171 O (3.83) = O (3.86)



p80,131: 0000O0OODO0O0OOOOD =0000000000
p81,110: untl =P = prtl=p

p8l, Eq.(3.108): > =)
k m

.84, Eq.(3.116): ]H%’j = ]m’+%
p.84, Bq.(3.118): 2000 10000 wyypy i1 = vigg jy2

p.84, E¢.(3.118): 2000 20000 Az = Ay

p85,16: DDOOODOO =0000000

p.86,1.7: O0OO0O =0 (3.121)00

p88, l5~61: UOODO0O0ODOODOODOOOOODOODO ==0000000000DO0ODO0OOn
p89,013: O0O0O0DOODO0OODOODO ==0000000 20

p91, Bq.(3.143): « = 002000

p.91, 1.21: Uppl; = Uigl

p92, 0012 DOODOODO =00000000

p.93, 141 wfO0D000 = wf0000000

p.123, 110:  [v¥);; = [©Y]i1

p123, 111: [d,v]i; = [0yv]in

p.142,0 (4.57)00: O (457)000 = 0 (4.56)000

p.144, Eq.(4.64): 6(JUTE) + 0,(JVT") + Sc(JWT") = 6¢(JUTE) + 6,(JVTG") + 8¢ (JWT;©)

p.145, Bq.(4.65):  6L(TT “u) + 8,(TV "u) + 6L (TW "u) = 64(TT ) + 6, (TV "ug) + 6L (TW “wy)

p.145, Eq.(4.66): Tdeu® + Voyu" + Wocu® = Udeu;- + Voyu; " + Wocu; -

p.145, Bq.(4.67): U 8u+V "8u+ W 8hu = U Spui + V "pu; + W “}u;

p.145, Eq.(4.68): JUdeu" + JVo,u" + JWocu® = JUOeu;- + JVoyu; " + JWocu; -

p.145, Eq.(4.69): =

i
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p.145, 141 D w0000 =04i=10000000«0000
p.146, Eq.(4.75): u©* = w*

p.167, L11: du./v = U Jv



p.171, Eq.(5.19):

p.212, Eq.(7.14),(7.16),(7.17) 0000000 20: + 2L

o _ 9
or ot

p174, 00 121 wi = Qf
p.197, 131 k=xy*®B 000 = kxy®>2 000
p.201, 1.11-12: O (6.80)~(6.82) = O (6.80),(6.81)

p.209,19-101: ODOOOODOOOOOOOO0 =0000000000
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p.220,16: 000 GSOO = SGSODO

p.224, Eq.(7.53): +i(—Tij + 21/6) = +i(_Tij + 21/6@']')
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p.224, Eq.(7.54): D = Dy;

p.225, Eq.(7.64): D;; = |D|

p231,11: 0000 =00000

p.233, Eq(7.94): §° = [DJ?

p.234, Eq.(7.100): (D2, + D3, +D2,) = (D2, +D;, +D2)
p.264,116 000000 = 0000000

p.272, Bq.(B.63): |v|(k) = |v|(k)



